[s A

—_—_—

(i)
P(T): P P(C) = J-P P/\4 =
PCTT)= p?= PCTCY+ PCCT) Zal N

T C[ T €

pl=pU-pP)+pU-pP) <=> Fz= P-p o+ P-pi<=>3ptt2p =0
—o

<=>p(354+2 O/
P P ) \3P+2 O L=>p°=

(ii)
X~ 6(450, 2/3) conta. (@ mumeto oi T

P(x>290): P(z> 23";;3”) - P(22-4)- ()~ 03413
Fs.2

e — =

(i)
c bm Fxr -0 o lm Fox) =4 J/
X—=>-w X7t

- Ftxdz0 <=> 2cx 20 <=> Cc20 ./

F(0)z0 ¢=> 0z0 v/ o FAB)2d ¢=> 4¢4

+ fim F) =0 <=> (=0 v o fim_ Foo-=4 <¢=>cB-14
x>0" x__’/@ﬂ

X O<K<ﬁ

(x) = )
b

— — Jl
=> C =
< /8

o



A8 A6 3 _ A6 &7
_ _ 2 2 X _ 2 9"
E[?ﬂ-jx(fcx)dxa_é_i X dx-é.[ 330 =l S o %/@
Vae (X)- ECX*3- ECXT - 40 6. 22 L6
f -
142 xsdxr}, .z g
e[x1d Gjo 9[‘11 g 4, %9

(14)
gah {
i 0 XZAJE

: Hax V@to‘amqu&amta.

[(8/ X, . xm) —[T_J (x:) -

: Hmﬂemh

FLXT- X <=> %j@ - X &=> 4ré= %i <= g%i
ES.3
m-200 X= 2% -p=0p.04

(1)
d-o002

Jo.04(09¢) Yow = ©092.¢=>49 . - 002 Neoo  «=>
2 A

N 200 /\50_0384
Ah43 ¢->4-4, - ®(1.443) <=>

<=>q. *Z*Ooz A6 162436 _
0.19¢

<=> A- 0.9250¢ - oL/Z £=> d=044986 —> A-d= 0.89



T=Xx+d 1-4, = 0.925

—

olﬁﬂ(f/_ = 004386 - Y 44 - O 02

04 (0.96) q
1-= (O.oz, o.oe)

(1i)

H.) p 2 0.02=p,

d—\:/’_@(ﬁ (ﬁ— Po) ): /{_}b’(/\f?,—oo '(O'OL"O'OZ)):A—E])_ 0,283)__
\ 014

m N /\/;.02 : (o.g?__)

1-F(2.02)=1-097€31= 0.022 <03 po plousbie

(£ci)

L= A AW"(?‘?”)7 0.3 <=2 0%> 0 e (prood)) o

<= 4)’2;2 (‘9—0.02) < q,, <=2 /ﬁé 0.525-% 4002 <=
o .14 44 14 24

<=> ?s 0.025



